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QUESTION: 66 

Which statement regarding the ARP protocol is true?
 

A. The ARP protocol uses the /etc/hosts file to resolve addresses. 
B. The ARP protocol provides the IP address of the host that owns a given hardware 
address. 
C. The ARP protocol uses a cache to keep track of addresses it has already discovered. 
D. The ARP protocol uses the /etc/ethers file to resolve addresses. 

Answer:  C 

QUESTION: 67 

Which statement regarding subnets is FALSE?
 

A. A Class B network is rarely subnetted because it can support over 65,000 hosts. 
B. A Class B network with subnets has fewer IP addresses available for hosts than a 
Class B network without subnets. 
C. For optimal network performance, a server should be located on the same subnet as 
most of its clients. 
D. A message sent from a host on one subnet to a host on another subnet must pass 
through a router. 

Answer:  A 

QUESTION: 68 

Your company has a Class C network address. Because of geographical considerations,
 
you want to set up seven (7) subnets. What is the minimum number of subnet bits that 

will allow you to have these seven (7) subnets? 


A. 2 
B. 3 
C. 4 
D. 5 

Answer:  C 
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QUESTION: 69 
Which of the following types of ISDN devices can be configured for use by a 
OpenServer 6 system? 

A. An ISDN router connected to the local area network 
B. An ISDN adapter connected by a serial cable 
C. An ISDN adapter installed on an expansion card 
D. All of the above devices are supported by OpenServer 6 

Answer:  D 

QUESTION: 70 
If a dynamic incoming PPP connection does IP dynamic addressing, which file can be 
configured with a list of available addresses? 

A. /etc/hosts.pool 
B. /usr/lib/mstppp/ppppool 
C. /etc/ppp 
D. /usr/lib/mstppp/IPPool 

Answer:  B 

QUESTION: 71 

Which file does the inetd daemon read to determine which services to provide?
 

A. /etc/inetd.conf 
B. /etc/rc.inet  
C. /etc/hosts 
D. /etc/tcp 

Answer:  A 

QUESTION: 72 

Which file allows system administrators to set up host-based trusted access?
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A. /.rhosts 
B. $HOME/.rhosts  
C. /etc/ftpaccess  
D. /etc/hosts.equiv 

Answer:  D 

QUESTION: 73 

What are two protocols at the transport level of the TCP/IP stack?
 

A. TCP and UDP 
B. ICMP and ARP 
C. ARP and RARP 
D. NFS and RPC 

Answer:  A 
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